Perpendicular Bisector Equations

To write the equation of the perpendicular bisector you will need to find
the slope of the perpendicular bisector and the midpoint of the
segment.

Example: Given the points A (2, 5) and B (-4, 3), find the equation of the
perpendicular bisector of AB.
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First find slope of segment.
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So the slope of the L =-3 -«
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Next find the midpoint of segment.
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Now we are ready to write the equation of the Perpendicular
Bisector with a slope of -3 and a midpoint of (-1, 4)
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m=-3 and midpt. (-1, 4)

Point-slope form

y=W :m(x_xl)
y=4-(3)e-(1)
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So the equation of the
perpendicular bisector in

slope- intercept form is
y—4=-3x-3 distribute and simplify

y=-3x+1

In standard form the equation will be

3x+y=1




Example #2: Given the points P (2, -5) and H (-6, 7), find the equation of the
perpendicular bisector of PH.

First find slope of segment. Therefore slope of perpendicular is:
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Finally, the equation of the perp. bisector //' \
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point-slope form
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slope-intercept form 3y=2x+7
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Standard form

Example #3 Given the point L (5, 8) and W (-3,-7) , find the equation
of the perpendicular bisector of .

First find slope of segment. Therefore slope of perpendicular is:
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slope-intercept form 30y =—16x+31

16x+30y =31

Standard form




